B

HEMMING UNITS

. - -
971 973
i LA
EAmE

975
G S _
TTATEL faFRR) Ixahi




0971

JHPSL

145

4-014-023

/%’ %
60-M12 5§30 60 2-013H8
A ) %

I

70

P
o
RS

170
@
@

130£0

70
90+0.1

._695@ |o5(am)
240
20 60
o=
®
 ay
A 4
©
=

S S W weta

(RLLY k}
L'lul Bin
JOUDER PRECISION

© ZEGERME
MERSE

_EﬁgﬁﬁA -1 _ss4oo -13 E_l

o HESH

B (mm) MR (mm) | 4IEA313K (N) RER (mm) RIS (N)
JHPSL 15 R-L 130 144.9 178.9x2 168.4 303.9x2

& AmmLEIRERER , RaIRAEIFIPI77-979.

__

JHPSL - 13 - R

0972




Eai .

JOUDER PRECISION
XA
o ZEtEmRdE
JHPPL HERE & HERSE
1 JEEE 1 FCD600 10 By 2 A
2 [EIEESE 1 FCD600 11 HIFR 8 S45C
3 i 1 S50C 12 JHES 4 F920LWM25
4 b2 1 S50C 13 R 5 $5400
5 = 1 S50C 14 HIFF 6 $5400
6 S 4 fAas+ha= 15 XSRS 1 S50C
7 S 1 AEs+ha= 16 SPAv=:]22 10 M6x20
8 B 8 fAEE+hA= 17 SR 10 M6FS
9 i 1 S45C
o BESH
|6 | | EEK(mm) | WK (mm) | SEEEIKD (kof) | BRI (mm) | B3I (kaf)
A 144.1 18.2x2 168.4 30.8x2
i 45 &
g B 130 1434 17.4x2 170.1 31.9x2 g
N A 147 19.4x2 168.4 31.1x2 ]
t > B 146.6 19.2%2 1715 32742 H
0 A 174 191.9 16.6x2 2359 32.4x2
B 196 18.0x2 2403 33.9x2
150
124
67.5
- ) Code 0 R/L
: : : H JHPPL - 55 - R
' I
b S _[ 32¢o.oi Q@ \ 2—®13‘|‘—|_"3a:3’nljs
Exo0.1 20
MEB F:o.1

96LAT
55 195 | 21.2 | 231 75 75LLF
70 | 25 | 165 | 185 | 190 | 310 | 60 | 235 | 315 | 190 | 279 438 | 145 | 85 | 50 | 105 | 75 | 55 T2LLF

fEREE
o Jar el rlalnlo ] x v m]elhm]m]ne oY
45 210 | 249 | 194 77
15 | 140 | 160 | 160 | 305 | 55 | 210 | 280 120 | 60 | 60 | 115 | 85

& FmmEeaIRaIRER | KanREIFIPI77-979. e n
45
JHPPL 55 R-L
70

0973 0974



JOUDER PRECISION

© ZEEERE

JHPPC FE | &% | BE | HEREE ES | &% | BB | nEREE
_J'FE& -1 _FCD600 -11 _gﬁg -2

st | o | mesaE | 15 | wwem | 2

110 20 4-014

=T

30-01

<&
130
160

o HESH

| fEESmmEIH) | R/ | EEK (mm) | ERK (mm) | WEESEKA (N) | BEEK (mm) | SEEEKD (V)

[
Al
T

\ M12 Depth 25 JHPPC 40~140 R-L 138.0 148.0 10.0x2 164.5 15.1x2
&F AREEEWNRER , RIS EIPI77-979.
160 15
40 §b=o.1 40
e CCode W
® 745 | o ] /® \ JHPPC - 60 - R
©),
-]
-

. = -

@ CTT] ] 2

40

285

0975 0976



IREIR 1 )

JOUDER PRECISION

Code No.

JHPCDA JHPCDB JHPCDC
50-£0.05 60=+0.02 50+0.05 60+0.02 50+0.05 60+0.02
43+0.1 2-913 E9iR 20 43+0.1 2-913 E9iX20 43+01 2-¢13 E9QiR20
f t ‘{H T H * T T o e ! T T el o
|_|_|_|I : qh‘i i!i‘;‘lg' 35451 Q& 4 f.s’: ! i L R R E‘g’; , b RS
| g (VT e 1 AET e ¥ AV e
| =T ‘@ o @ S @ &
IniBE an iR : :
- [ - o - %
| ° 8 g
| 8 8 .
*RENEE ; _ 3 i 3
Tt SRR ® EINET . ¢
Ly T o
@ 5 ==/ % - 4 3 §
| 30 —
5 B} WARBASIFEE2000kg. — 30 % 50-009_ 45 33.8 S
g 50005 _ 45 _| |35.5] @ 205 48 g
+= ! +=
i_'SqJ 143 50005 60 R
L 150.7 Iﬁ
195 195 195
5 190 5 190 5 190
20 150 20, 150 20, 150
o o o
m M ~ m M i 1 - oo i
— T A — 7 — 7>
@ 8 @ Lt ~ 3 § ;'—) 0 @ e N4 3 3 3 9 @ . N\ S 3
b= o e % | = o PN T | s 8 o P W W |
I i, i o I i e R I s A ez o1
“ W] 8 ) W & ] RS
3-018-932 3-918-¢32 3-¢18-¢32
R/L
JHPCDA
JHPCDEB 10 15 - © EERAHTIIREh RS R
2 2 it I S
JHPSL  JHPPL45  JHPPL55 JHPCDA
- JHPPL70 JHPCDC
o ZFiIipdE JHPPC JHPCDB
HMRR&EE MRREE
1 IXzhHR 1 SS400 5 AR 2 SCM435 M8x55
2 =5 1 SS400 6 HERE 2 M10F8
3 VELEH, 1 S50C HRC50 7 SR 2 M8F
4 VAV=:l e 2 SCM435 M10x30

p Code L R/L
“ JHPCDA - 10 - R

0977 0978



] {i st

JOUDER PRECISION

JHPFCDA JHPFCDB Note

75+01 _ 60005 7501 60200
4918 2-013 E9R20 4-218 ‘ 2-013 E9iR20

1 SR il = SR 1 =

® }o\
®

=]
% &l
30°]

Eaid
@
-

170
170

~

158
152

280
280

105

L8 @@@/
30

105
[~
L

7501 | 45 _| 33.8 |

s RENE, 168 o
T ARERS R,
220 220
25 175 ES 175
] Y
o &
R A S
R 3 I s
ﬁgmt [ o P O P ggq ) P | o
e s T i | S| i |
| w0
1 OF 7.8 Ox)
t

JHPFCDA
JHPFCDB

e SiSRgE

R &EE HEREE

a2
IR FCD600 A SCM435 M8x75

© ERAHMIREIRAT R

IRER
JHPSL  JHPPL45  JHPPL55 JHPFCDA

__

JHPFCDA - 25 - L

0979 0980



